Prime Factorization and Least
Common Multiple

Factors

Prime Number

Composite Number

Prime Factorization

Factor Tree

2 1.2 Prime 11 111 Prime

3 1.3 Prime 12 1234612 Composite

4 124 f Composite 13 113 __Prime
5 1 v 1 Prime s [ varM | Composhte
I s 1236 Compeste [ s 13515 Composte

L4 1.7 Prime 16 124816 Coimposile

B 1248 Componte 17 7 Prime

9 1,39 Composite 18 1,23,59,18 Compcaite

i1 125170 Companite | 19 119 Prime

Find the prime factorization of 80

Find the prime factorization of 63

Find the prime factorization of 252
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Find the prime factorization of 126
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Find the prime factorization of 294. /\
2 %777 2 197
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Find the common multiples of nd 24. Find the LCM.

Common Multiple

90 log .
Jao “’!“"_..

(2 13 3 54

LCM=T

Least Common Multiple
(LCM) Smulles & v mbe,

thet /3 = malEple
0{- Lg‘ti—. nembiees.

LCm =(o

the LCM Find the LCM of 12 and A8 using the prime factors method.
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Using prime factorization to fing
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AN
g 3
J/\ﬁ 9 p A S 3 - 7> Lem =7
VAN
2.5




Summary
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Carl purchased a new house. The cost of the house was $253,926.
The bank wrote a check for the house. Write the purchase in words.

Julia is building a workshop on her garage. The addition will cost her
$15,532. Round the amount to the nearest thousand.

N
Hamburger buns are sold in packeges of 10. are sold in
packages of 12. What is the smallest number of that makes the buns
come out even?
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Use of variables and algebraic
symbols

Variable

Constant

What you will learn about:
How to Use the Language of Algebra

Supposs his yesr Grag B 20 pears ofd and Aley 4 23, You know that Alen @8 3 pears oidey than Greg. YWhen Creg was 12 Alex wis 15
Whan Grog s 35, Alex will ba 38 No matter whist Gregs age e, Alex's age will aslways be 3 yoars mon, right? in the langusge of
nigebra. we ssy that Greg's age and Alex's age a= varlables and the 3 is & constant The agss changs (‘vary™] but tha 3 years
Dotwoan thaem Blwnys atays e same "oonstant ). Sincs Grag's age ond Alwce 08 will Ay diffés Dy 3 valrs, 3 ia tThe constant,

In oigebm, we ynae lotiors of the aiphabet to represend varinbles, 50 if we call Greg™s aga g, than we could uss g + 3 to epresant
Alax's age. Soe Table 1.2

Greg's age Aan's mge
12 13
) a3
15 38
% g+3

The four basic operations arithmetic operations: addition,
subtraction, multiplicatioin, and division.

Oparation Notation Say: Tha result is...
AGmnOn a+b 4 pilua & e Bum of 2 and b
S
Eubtmction a~b aminus b tna ditierence of o and &
—
Mulbpicanon u-h,ab.falib), anmesb tha product of 2 and &
[ay b, a (b)
Ditvision i+ b, alb, :hm & drddad the gutnﬁeﬂto-’a and b. & i called the dividand, @nd b ia called
by b e divisar




Equality

Inequality

> 57:1.‘{'“’ tl\‘h\
( (ess Chen
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EQUALITY SYMBOL

= b s read "a S equal tob"

Tha symbal “="" s oslled the egual sign

On the number line, the number gets larger as they go from left to
right. The number line can be used to explain the symbols “<” and

L "
>,
INEQUALITY
bras read "o bess than &
1 bk 4o the left of b on the mimber Jine
o b
i > b is read Y i grester than B
o s 10 the rlpht of & an the number Lne
I L
b a
Inequality Symbols Waords
ia#&h B = ol edesl o b
dch i e han b
a<h & kg less than o ggual o b
ash 2 | greaer fhan &
azh i b presier Mo or ecquid o b
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Grouping Symbols

()
L1

3§

Expression

| x|

Numk#f, U&r:uklg &or

lC.amlar:ad:-m oL Nlamb
anot versubles l,g;.‘.-..b
aP:fh't.'M S}Iﬁbats

Equation

TWO expre 3B om A
connected b-{

Ezhgls 5-;531.

Tanslate from algebra to English

17 < 26

Seutabecn b Less o

"-’t‘"l bo bwa-"‘y-%-}(

12>27 %3

@of Grouping Symbols

@ Pwtn'u“ﬁb
™ bﬂ-v’&i'&&

e Braces
] Hb!-o:h‘l'r. Ur..lu.c_.

L] Fﬂ.c.{;-q. &r

8+17-3
Ei&ln* ') l'b di’lp-t bD

Stuenbren mmes

y+7<19

English Plvaus

the sum of Throm ard fiee
the diflerence of n and ofé
tha product of six 2nd SEvan

the quatst ofx and y

Expression Waords
I+5 Iphsb
n-1 n minus one
67 o tmea T
1o X dividad by ¥
SX¥5+2x47
SxHI
Equation English Sentence
14+ 8=K The sum of threo and fue is aqual o sight
n=1=14 n rinus o souals fourteen
6:7T=42 The product of six and seven s equal 1o forty-two
=53 ¥ & equal to fifty-three
+9=2y-3

¥ plus nire is oqual 1o two y mInuG thigo.
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Exponential Expression

Order of Operations

W3 -3 T Sn o I

Determine if each is an expression or and equation.

2(x+3)=10
EGE b.u‘:-‘ah

x+ 25
Exfrcoﬁ-'ulf\

a!l

G~ base

n- C"f’""t

PEMDAS
Pauaflws-')

Exf"‘"{-:’
molb Lett = bt

gl}r} Lebb anight
simiphky:
12 —5+2
[3=1e
4§

4y—1)+1

EKFI’”"# ron

y+8=40
E‘Luh)‘""'l
>
G T a-aA

lf—- b'bbbb

GEMDAS
Cw-u.r.:.'nb

(12-5)-2
(1)-2
4
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Shmgtity: 1% 16,351, 45 ,~5
fe 18+6+4(5—-2) 5+2% +3[6-3(4—2)]
186 FY(y) 5+2‘+3[a-7>£1)]
3+ S+ [e-¢]
5+9+0
%6 13 -]
9+53}— [4(9 +3)] 72 —2[4(5 + 1)]
G485 - [0 7%= 2 [u)]
frs™= us 7264
Gr1285-419 Yy§-2(24)
gl LU g-4¢
Evaluate an Expression Evaluate 7x — 4 1
Whenx=5 Whenx=1
1(s)-4 1e)-4
>) 3
Evaluate x* and 3%, when x = 4. y 1._ 52,
(.'1.)1- = 16 e >
y = Gl
Evaluate 2x* + 3x + 8 whenx =4
200 35(4) + 8
llL) ¥ 1% +¢
3 +I13+9
s Y4ty

Sa




Term — Cansﬁw"‘: o
Praduo{' a'(' e conBiy

S G x

ﬂ,uul one ar mave Va/d I..',,

Coefficient

Like Terms

Seme cxect varich e

P&f't_-;

a) 14y

14

Identify the like terms

9,2x% y%,8x% 15,9y,1

4x% +5x + 17

| xzy é?

3xB5

Identify the coeffiecent of each term

b) 15x2
1S

' 2I0E 4y 9

1y?

Idenify the terms in each expression

LZ tems

c)a

S5x + 2y
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